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Landoalt-rings W-N code: background-ring

Picture C4: Landolt-rings W-N; PS operatomnnO*lin 1.0 exp setcmykcolor
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Radial grating (Siemens-star) W-Z
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Picture C1: Radial gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS oper.nnn0*lin 1.0 exp setcmykcol

Bicture C5: Line raster under 45° (or 135°); PS operator0*lin 1.0 exp setcmykcolor
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Picture C2: 5 visual equidistabt-grey stepst NO + W1, PS operatomnn0*lin 1.0 exp setcmykcolor Picture C6: Line raster under 90° (or 0°); PS operatan0*lin 1.0 exp setcmykcolor '>< >
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Picture C3: 16 visual equidistalit-grey steps; PS operatamn0*lin 1.0 exp setcmykcolor
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